



Revelry Event Designers
3604 Medford St.
Los Angeles, CA 90063
(323) 263-1657

IN-0008977

Mindy Weiss
942 S. Detroit Street
Los Angeles, CA 90036

02/04/2026 09:00 AM | Delivery and installation

02/05/2026 09:00 AM | Delivery and installation

02/06/2026 02:00 AM | Strike

PO:

Shipping Address:
Four Seasons beverly Whilshire
Petit and Grand Trianon

Invoice Date:

Due Date: Upon Receipt

Salesperson: Romina Manolio

Description	Qty	Price	Total
Entrance Drape - A			
Custom Made Two Tone Chiffon Pink with Pick ups To create a double Pullback at entrance outside elevator and Cover pre Foyer area 100'x 12'H With Swags and or Pullbacks	1	\$6,600.00	T \$6,600.00
Custom Valance 100' x 12"H Pink Fur	1	\$780.00	T \$780.00
	10	\$30.00	T \$300.00
Total Entrance Drape - A			\$7,680.00
Ballroom Entrance Drape - B			
Custom Two Tone Chiffon Pink with Pick ups To create a double Pullback and Create tunnel Entrance With Swags and or Pick 60x12'H	1	\$3,240.00	T \$3,240.00
	1	\$450.00	T \$450.00
Custom Made Tie Back in Pink with Rhinestone	4	\$30.00	T \$120.00
Total Ballroom Entrance Drape - B			\$3,810.00
Ballroom Drape - C			
Custom Two Tone Chiffon Pink with Pick ups to Cover Full Ballroom 320' x 12'H Pullbacks on all Entrance 4 Total and Pullback on all Mirrors 8	1	\$12,960.00	T \$12,960.00
Custom Made Valance 300'x 12" in Pink Fur	1	\$1,800.00	T \$1,800.00
Custom Made Tie Back in Pink With Rhinestones	20	\$30.00	T \$600.00
Iridescent Beads to hang in front of Mirrors 67"X 114"H	8	\$180.00	T \$1,440.00
Total Ballroom Drape - C			\$16,800.00
Stage drape - D			
Custom Made Two Tone Pink Chiffon With Pick Ups 80'x 10'H To have Pick ups	1	\$5,040.00	T \$5,040.00

Description	Qty	Price	Total
Custom Made Valance 70'x12'H In Pink Fur	1	\$660.00	T \$660.00
Custom Made Valance For Proscenium of Existing Stage Cover in Pink Fur 31'x 20"H	1	\$540.00	T \$540.00
Total Stage drape - D			\$6,240.00
Restroom Drape			
Custom Made Two Tone chiffon Pink with Pick ups To cover a 44'x 16' x 12'H area	1	\$7,200.00	T \$7,200.00
Custom Valance 80'x 12"H	1	\$780.00	T \$780.00
Custom Made Tiebacks in Pink with Rhinestones Details	8	\$30.00	T \$240.00
Total Restroom Drape			\$8,220.00
Furniture			
 Banquettes - Pasadena - Straight Ivory W/ Skirt 6' 6'W x 28 3/8"D x 38"H	7	\$414.00	T \$2,898.00
 Banquettes - Pasadena - Straight Ivory W. Skirt 6	1	\$414.00	T \$414.00
 Banquettes - Pasadena - Straight Oatmeal Chenille 6' 6'W x 29"L x 38"H	2	\$414.00	T \$828.00
Custom Made Pink Covers Tufted w. Rhinestone Buttons For Banquettes Pasadena	10	\$1,440.00	T \$14,400.00
 Club & Lounge Chairs - Tangier - Channeled - Blush Velvet 26"W x 25"D x 37"H	8	\$207.00	T \$1,656.00
 Ottomans - Standard Pod 12 Custom Fur Pink Covers 21 Velvet with Details in Rhinestone 18"RND x 17"H - Cover Color Upon Request	33	\$48.00	T \$1,584.00
 Dining Chairs - Beverly Hills - Clear Pink Cushion in fur - 10 For Guest 2 for Snow Glove Station 17"W X 20)L X 35"H	12	\$36.00	T \$432.00
 Console Tables - Buenos Aires - Clear To Be used as a bar-back in Between bars 6'W x 18)L x 36" H	1	\$165.60	T \$165.60
 Dj Booths - New York Cover in Fur 30"W x 4'L x 42"H - Color Upon Request	1	\$660.00	T \$660.00

Description	Qty	Price	Total
Mix and Match Custom Pillows 10 - Pink Sequins Lumbar Pillow 12- Pink Fur 18"x18" 8- Pink Velvet 18"x18"	30	\$36.00	T \$1,080.00
Custom Pink Fur Throughs for Sofas 60"x 80" with Pink Baking in Dupioni	10	\$96.00	T \$960.00
		Total Furniture	\$25,077.60
DanceFloor			
Custom Build Dancefloor with Wrap	1	\$9,840.00	T \$9,840.00
Custom Made cover for Stage	1	\$3,000.00	T \$3,000.00
		Total DanceFloor	\$12,840.00
ICE Furniture			
Custom Made Ice Butler	6	\$2,394.00	T \$14,364.00
Pink scarf For Butler	6	\$26.40	T \$158.40
Cover for Buttler Base Aprox 24"x24" x 6"H Cover with Pink Fur	6	\$30.00	T \$180.00
Custom Made ICe Coffee tables 4'x2'x 18"H 4'x2' with Desing	10	\$1,800.00	T \$18,000.00
Cover For Coffee Tables Bases in Cover in Fur Fabric	10	\$60.00	T \$600.00
Custom Made Acrylic Top for Coffee tables 4'x 2'	10	\$180.00	T \$1,800.00
Custom Made Ice Round Coffee Table 30"x 18"H For Ice Booth	4	\$1,560.00	T \$6,240.00
Custom Made Top for Round Coffee tables 30" Diam	4	\$180.00	T \$720.00
Bases Cover For ROund Coffee tables Pink Fur	4	\$60.00	T \$240.00
Custom Made Ice Booth	4	\$3,000.00	T \$12,000.00
Custom Made Base for Booth	4	\$300.00	T \$1,200.00
Custom Made ice Bar 8' With Barback	2	\$4,560.00	T \$9,120.00
Cover for Bar Base of Bars Fur	2	\$90.00	T \$180.00
Custom Made ICe Cocktail table Pedestals 24"x 40"H	4	\$1,320.00	T \$5,280.00
Custom Made Base for Pedestals	4	\$24.00	T \$96.00
Custom Made Acrylic top for Cocktail Table pedestals	4	\$60.00	T \$240.00
Pink Fur Blankets for Ice Seating	4	\$180.00	T \$720.00

Description	Qty	Price	Total
Total ICE Furniture			\$71,138.40
Carpet			
Pink Carpet to cover Ballroom and Entrances Provided by ECP-	1	\$17,949.60	T \$17,949.60
Pink Carpet to Cover Le Grand Trianon	1	\$1,684.80	T \$1,684.80
Total Carpet			\$19,634.40
Linen			
Custom Over lay in Fur for seat down and stand up table 36" x 10"H Custom Fit	6	\$144.00	T \$864.00
Table Cloth for Seat down and stand up Sequins 134" Round - From Theoni	4	\$162.00	T \$648.00
Table Cloth Jaipur Blush from Theoni	4	\$102.00	T \$408.00
Table Cloth Jaipur Blush from Theoni	2	\$102.00	T \$204.00
Total Linen			\$2,124.00
Services			
Revelry Installation Drape & others Day 1	8	\$650.00	\$5,200.00
Revelry Installation Drape & Other Day 2 Event Day	6	\$650.00	\$3,900.00
Revelry Strike Time TBD	8	\$650.00	\$5,200.00
Revelry Transportation	3	\$375.00	T \$1,125.00
Flame Certification And Fire Permit BH	1	\$1,600.00	\$1,600.00
Carpet Labor- Install - Standy By - PLastic ,etc	1	\$16,590.00	\$16,590.00
Labor for DanceFloor installation	1	\$1,200.00	\$1,200.00
Ice Labor	1	\$6,000.00	\$6,000.00
Revelry Mananger on site	1	\$5,000.00	\$5,000.00
Misc Fee- refundable or removed fee in case is not used Anything else we had Forgotten and needs to be added last minute	1	\$5,000.00	\$5,000.00

Please make checks payable to Revelry, Inc.

Note: Prior to deliveries and pick-ups all invoices must be pay in full
Please ready the contract and sign it

Notes

Total Products:	\$173,564.40
Total Labor/Services/Misc:	\$50,815.00
Wear & Tear (4.00%):	\$6,942.58
Packing (2.00%):	\$3,471.29
Taxes (tax exempt):	\$0.00
Discounts:	(\$0.00)
Total:	\$234,793.26
Payments:	(\$0.00)

Balance: \$234,793.26